COCES
SFFE

AUTOMOTIVE INDUSTRIAL TOOLS

Fermec srl
Via Galileo Galilei, 75 - 41015 Nonantola (MO)

Tel. (+39)059.54.90.55 - Fax (+39)059.54.70.03
www.fermec.it - info@fermec.it

ALTA QUALIT

3
CTORRITRT ICLETRAL OGN

Articolo

39925
39926
39927
39928
39929
39930
39931
37713
39933
37715
37717
37719
37721
37723
37725
37727
47745
47750
47755
37726
37728
37729

LUNG.
mm

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
70
70
70

mm

3.2
3.2
3.5
3.5
3.0
4.0
4.0
4.5
4.5
6.0
6.0
6.0
8.0
10.0
12.0
3.0
3.0
3.0

Descrizione

ANNULLATO
ANNULLATO
ANNULLATO
ANNULLATO
INSERTO TORX ATT.1/4"E TX5 L.50
INSERTO TORX ATT.1/4"E TX6 L.50
INSERTO TORX ATT.1/4"E TX7 L.50
INSERTO TORX ATT.1/4"E TX8 L.50
INSERTO TORX ATT.1/4"E TX9 L.50
INSERTO TORX ATT.1/4"E TX10 L.50
INSERTO TORX ATT.1/4"E TX15 L.50
INSERTO TORX ATT.1/4"E TX20 L.50
INSERTO TORX ATT.1/4"E TX25 L.50
INSERTO TORX ATT.1/4"E TX27 L.50
INSERTO TORX ATT.1/4"E TX30 L.50
INSERTO TORX ATT.1/4"E TX40 L.50
INSERTO TORX ATT.1/4"E TX45 L.50
INSERTO TORX ATT.1/4"E TX50 L.50
INSERTO TORX ATT.1/4"E TX55 L.50
INSERTO TORX ATT.1/4"E TX6 L.70
INSERTO TORX ATT.1/4"E TX7 L.70
INSERTO TORX ATT.1/4"E TX8 L.70

J

P R R R R R R R R R P R P R R R R R R R R R

Image not fo
sitelfermec |

und
webprofession:

X5
TX 6
X7
TX 8
X9
TX 10
TX 15
TX 20
TX 25
TX 27
TX 30
TX 40
TX 45
TX 50
TX 55
TX6
X7
TX 8



39937
37731
37733
37735
37737
37739
37741
37743
38746
38747
37745
39941
37747
37749
37751
37753
37755
37757
37759
37910
37915
37920
37925
37927
37930
37940
37760
37761
37762
37763
37765
37767
37769
37771
37773
37775

70
70
70
70
70
70
70
70
90
90
90
90
90
90
90
90
90
90
90
100
100
100
100
100
100
100
150
150
150
150
150
150
150
150
150
150

4.0
4.0
4.0
4.5
4.5
6.0
6.0
6.0
3.0
3.0
3.0
4.0
4.0
4.0
4.5
4.5
6.0
6.0
6.0
4.5
4.5
4.5
5.5
5.5

4.5

INSERTO TORX ATT.1/4"E TX9 L.70
INSERTO TORX ATT.1/4"E TX10 L.70
INSERTO TORX ATT.1/4"E TX15 L.70
INSERTO TORX ATT.1/4"E TX20 L.70
INSERTO TORX ATT.1/4"E TX25 L.70
INSERTO TORX ATT.1/4"E TX27 L.70
INSERTO TORX ATT.1/4"E TX30 L.70
INSERTO TORX ATT.1/4"E TX40 L.70
INSERTO TORX ATT.1/4"E TX6 L.90
INSERTO TORX ATT.1/4"E TX7 L.90
INSERTO TORX ATT.1/4"E TX8 L.90
INSERTO TORX ATT.1/4"E TX9 L.90
INSERTO TORX ATT.1/4"E TX10 L.90
INSERTO TORX ATT.1/4"E TX15 L.90
INSERTO TORX ATT.1/4"E TX20 L.90
INSERTO TORX ATT.1/4"E TX25 L.90
INSERTO TORX ATT.1/4"E TX27 L.90
INSERTO TORX ATT.1/4"E TX30 L.90
INSERTO TORX ATT.1/4"E TX40 L.90
INSERTO TORX ATT.1/4"E TX10 L.100
INSERTO TORX ATT.1/4"E TX15 L.100
INSERTO TORX ATT.1/4"E TX20 L.100
INSERTO TORX ATT.1/4"E TX25 L.100
INSERTO TORX ATT.1/4"E TX27 L.100
INSERTO TORX ATT.1/4"E TX30 L.100
INSERTO TORX ATT.1/4"E TX40 L.100
INSERTO TORX ATT.1/4"E TX6 L.150
INSERTO TORX ATT.1/4"E TX8 L.150
INSERTO TORX ATT.1/4"E TX9 L.150
INSERTO TORX ATT.1/4"E TX10 L.150
INSERTO TORX ATT.1/4"E TX15 L.150
INSERTO TORX ATT.1/4"E TX20 L.150
INSERTO TORX ATT.1/4"E TX25 L.150
INSERTO TORX ATT.1/4"E TX27 L.150
INSERTO TORX ATT.1/4"E TX30 L.150
INSERTO TORX ATT.1/4"E TX40 L.150

PR R R R R R R R R R R P R P R P R R R R R R R R R R P P R P P P R PR

X9
TX 10
TX 15
TX 20
TX 25
TX 27
TX 30
TX 40

TX6

X7

X8

TX9
TX 10
TX 15
TX 20
TX 25
X 27
TX 30
TX 40
TX 10
TX 15
TX 20
TX 25
TX 27
TX 30
TX 40

TX6

TX 8

X9
TX 10
TX 15
TX 20
TX 25
TX 27
TX 30
TX 40



